Answer Key : B-3
Aptitude Test (Part - I)
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| Answer Key : B-3
Part-1I (Optional Paper): Art Group
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Answer Key :B-3
Part-II (Optional Paper): Commerce Group
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| Answer Key 'B 3
Part-1I (Optional Paper): Science Group

[ Q.No.

Question
Booklet Code

>

Question Question Question
Booklet Code Booklet Code Booklet Code

=

C

D.

L,LLL.,

el s W=

[y
[

[y
[ 8]

[
w

p—t
=

[y
(¥}

[y
(=2

ot
g

—
®

[y
o

g
(=

[ ]
ey

[\
[\°]

[\
w

[\ ]
S

N
i

[\°)
(=)

[ 9}
<3

[
(> -}

[}
o

()
(—}

w
fuirg

w
(]

(8]
w

(73]
E =N

(]
n

(73]
(=)

o)
|

(98]
o

W
@

i T o T R P e

o
<

=
[ury

S
[\

o8
w

-
=

FeN
wn

EES
(=)}

=
b |

S
=]

L
o

7]
=

A
B
C
A
D
B
D
A
C
B
C
C
B
A
C
D
A
D
A
C
C
A
D
C
D
A
B
&
A
A
B
D
B
C
C
C
B
C
A
D
€
C
B
B
B
C
C
A
B
C

A
C
D
A
D
A
C
C
A
D
C
D
A
B
C
A
A
B
D
B
C
C
&
B
C
A
D
@
C
B
B
B
C
C
A
B
C
A
B
C
A
D
B
D
A
C
B
C
C
B

C
A
A
B
D
B
C
C
C
B
C
A
D
@
C
B
B
B
C
C
A
B
C
A
B
C
A
D
B
D
A
C
B
C
C
B
A
C
D
A
D
A
C
C
A
D
C
D
A
B

@
C
B
B
B
C
C
A
B
C
A
B
C
A
D
B
D
A
C
B
C
C
B
A
C
D
A
D
A
C
C
A
D
C
D
A
B
C
A
A
B
D
B
C
C
C
B
C
A
D

E%

l

Scanned by CamScanner



